éﬁﬁﬂaﬂ@aiﬁj%i ~ K V_s] 202345 H s iE s

SH8H — 700 A SH9H 700 A SH10H = 700 A SHI1H ) 700 A SHI12H h 700 A
EZ A KA TR EZAR KR wel | o | et i | me | s [wslaw KA e | mar [walan AR e | Hifr
F B Hok 48 | ke [mEzE Hok 4 | ke fek Bk 4 | ke |Eok Hk 3! ke
=1 Ak 3 ke | 8 BEER 3 ke | 300 FUAE-HR 145 kg & 3 ke | B
HthH 40 | ke e HERRE 700 | fy CASHERH 8 kg b=z 51 kg /NAH TEfFEH | 48 ke
VEE 4% 5 ke CASTEFERS YA | 12 kg EE 4% 15 kg WNEE 4 i
b ﬁ%;'i [ 20 | ke | 55 %}i 0.6 | ke % il,%gi‘%_ 5 ke | ® i 1 ke © -
| 2 [EE L [ ke | g [FFE 0.6 | ke | |arzis NT S ke | A |E% ] 1 ke |8 PER 4 10 [ ke
= 5 yhEE Bl [ 2 | A B JRIEL 12 |/hEl F [EKRCAS 6 ke | M |ErfetsiEE£1000cc 4 i = EA ] H 5 ke
H el & [ EIEHECAS 15 ke | B |[FFE500cc 2 M| o | 2.4keif | 3 i
+ s [ T 112 | ke | & [EREKG 2 | B F () R
CEGE A WETE 4 it By HIEG | 4 ke
FEF{-CAS 3 ke
EZ-RI 7 40 | ke SR SRR 4 | ke CASfkfa Bk 00 | AT 30 kg WA HH%R | 42 kg
HEENRA 6 kg HE 42 | ke | s DRIl 40 kg ZH3KG 3 £
e [PEUROREE 12 | ke | &R 1 ke | = |SHIREE = |EkK 2T 15 kg JELE A TEfRE | 9 kg
| [ELEEE A S [ ke | 8 B W [EH 05 | ke | %% |40%% % | 5 | ke
&l e INEAEERE | EARY)] 10 | ke | BF | B T e 05 | ke | & |3 TEE | 1 ke
bd g b4 ﬁ & DuUEE 1 ke | B [EH
e 05 | ke | = - T |BEHR2KG 1 | [eEs % 103 | ke
B w5 Ul 106 | ke B &
EREY H 71 | ke BB B |70 | ke EslisIsEd |2 70 ke 4L H 80 | ke
wp [ELEEE] A 3 [ ke |y [FEA 05 | ke o [ 05 | ke A 05 | ke
#l = T 0.5 | kg 5 L5 & 3 kg % AR L] 4% 5 ke | W |arzes [E 3 ke
| A p @
% ¥ ki
HUE A 2 | ke g T B | ke | 2= 4 |20 | ke 4IZEH) BT [ 3 kg
i BT H |20 [ ke [ W g |13 B 6 [ ke | Z [ 12 [ ke | % (5% T 20 [ ke
B B4 05 | kg | /K [dofeg 12 | ke | g [GBt 6 | ke | & B /DB a{cas ] 6 | ke
5| ' |EBiE 3 | ke | BF |-t 1 | ke % /N g 12 4 ke | B |TE-E8 Vg | 1 ke | BB |FrEEE-EEE 1 kg
& |f74% Y 3 | ke | & L |EREE A 15 kg | FE L}
¥ [Eitic 5 7 &% 05 | ke |3 5
W /N N 700 | {7 |EER| R ERER A 00 | i |EElEE 00 | (g |EElEE 00 |y |EEEE|EE 700 | {7
& il o il i il o il o Hiln i)
Faj HERTE i TaME AEEE [iEa Esey | AEEE 8 Esey | NEEE [5a Fas REEE B
= 3.60 1.60 2.50 3.60 3.20 1.40 3.60 2.30 1.00 3.60 2.90 2.10 4.50 2.70 2.40
Ee TR SHIFEE Ehig TR SHIFE g K SHIFE Ehig KM SHREE g KEHE SHiFESE Ehig
ban 1 2.40 602.50 0 3.20 671.00 0 3.20 631.00 1 2.50 694.50 0 2.50 690.00
1 == HEHH [ EHHE e [ EHHE HeHr ik EHHE [i=2i17] [ EOHE Hefr i)
B REE, Cld O maGRE - ) KA IS, - A B
FERE FfE: Bk




